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INSTRUCTIONS TO CANDIDATES

You shoulid have the following for this examination:
Non-programmable scientific calculator;
Answer bookler.
This paper consisis of EFGHT questions in TWQO sections; A and B.
Answer a ioial of FIVE questions 1aking at least TWO questions from seciion A and at leasi TWO
questions from section B, in the answer booklet provided.
All guestions carry equal marks.
Maximum mmarks for each part of a question are indicaied.
Candidates should answer the questions in English.

This question paper consists of 3 printed pages.

Candidates should check the question paper {0 ascertain that
all the pages are printed as indicated and that no questions are missing.
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SECTION A: CROP ENTERPRISE MANAGEMENTI

Answer at least TWO questions from this section.

Explam Ioar eﬂ’ccts of temperature on piants. {8 marks)
) = P oot Bg )p = \"_,__} |¥_, e I_‘. - ¢

Exp]am six mcasures used in the managcmcm “of soil fcmhty (12 marks)

. .'u Bl Coo fedt — o"f e = Pecbeent Lip o DU 10y '-"'*'?Jf“"r'-u o

H:ghhoht ten causes of low agncnl!:in‘éfdr oduction. {10 marks)

Explain self pollination under the following:

@) features;

(i)  significance. (10 marks)
Distinguish between grafting and budding. (6 marks)
Highlight six post-harvest losses in crops. (6 marks)

A greenhouse measuring 24 m by 8 m is constructed with the beds measuring 15 m

by 1 m and pathways measuring 60 cm between the beds. Given that 2 rows of
tomatoes are planted per bed at inter-plant spacing of 40 cm, determine:

() total number of beds in the greenhouse;

(i1)  total number of plants in the greenhouse;

(3ii)  actual planting area. (8 marks)
Cabbages are pianted at a spacing of 60 cm by 60 cm. Given that one cabbage plant
requires 10 g of CAN fertilizer, determine the amount of fertilizer required for one acre
of land. (5 marks)
Highlight five characteristics of a potting media. (5 marks)
Describe striga weed (Striga hiamonthieca) under the following:

(1) characteristics;

(ii) control measures. (10 marks)
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SECTION B: FOUNDATIONS OF SUSTAINABLE AGRICULTURE

Answer at least TWO questions from this section.

£y, {2a)  Descrbe vuinerability food insecurity under the foliowing:
@  meaning;
(i) components. ' (8 marks)
(b)  Describe double digging with respect to:

(i) measuring;

i) procedure. (12 marks)

6;\ (@) Highlight four advantages and three disadvantages of dammed water reservoirs.
(7 marks)
(b)  Discuss the integration of aquaculture, livestock and crops in a farm. (13 marks)
N (@) E;,ff?lf‘,’,i,“_ five fac_tpr%l:gt _ipﬂuence soi{l moisture retention. (10 marks)
(b) ’Exip'llain the types ofmomtonng e (10 marks)
8. (@ Hi éhli ght the features of appropriate technology. (10 marks)
(b)  Explain the environment under the following: I

) meaning;

(i) components. (10 marks)
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